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The Heichohl is different for it is made for its inside

OVERVIEW

»aR sought to prove that 751 XpY TR X7 is permitted from the fact that jam» "
gave his i1 nwA7 in the shadow of the 55°71.2 X271 (who maintains 11971 XP) MWOKR RY
1s forbidden) responded that there is no proof from this story since the walls of the
%511 were made for the inside of the 9271 (the usage of the area inside the 93°77), but
not for the outside. *"w1 and MO0 clarify s'X27 response.

- 5NN Y797 AT PRY NIDNY 198 ANIN PN *0I09DN Y
>""w4 explained; therefore deriving benefit from the shade (of 92°777 *5n10) is not
prohibited (as an act of 75°v») since it is not in the usual manner of utilizing the

benefit of the %2°7777 *Hno.

nooIN asks:
- HON NP ANIN T2 RIW 19298) *19aN 29119 KY XM 9NN ON)

And if you will say; but it does not state ‘eating’ by the 77>y T0°X, so it should
be prohibited even 118177 7775 XYw?!

N1B0IN answers:
- AN 2919 71219N2) NWINN 'RVA VN 129995 NPNRT 911 Y

And one can say that we derive the laws of %% from the laws of 720 through

' The 92°7 (or sanctuary) was a large building (one hundred n»X square by one hundred nvax high) which contained
the D>w1p7 WP the WP and the 09X or entryway (in front of the wTP), plus many maw? or offices.
2 It is TwoR X?; it is not possible not to give this w17 (of a7 27P A7 M2I), however he was 1191 to derive benefit
from the 95°777 2%, which seemingly transgresses the 110°k of 719°v7 (the prohibition from deriving benefit from w7p:).
N7 At
* The walls (and their 7w17p) were made for the purpose of the area which they enclosed. Deriving such a benefit
(for instance protecting oneself from the elements by entering the 93°77) would be prohibited. However the outside
shadow of the 22°77 is not the X377 T17; the 93777 °2n15> were not made to provide an outside shadow.
> 1 1 taught previously (2,72) that there is no N for deriving benefit 1nX37 7772 X2w. [Even though there may be
an oK for WX 7770 K7W, but for 0°277 770 720 (where there was no other option) it is 771037 N (see *°Rn).]
¢ Previously (on 2,72) »ax taught that by those prohibitions where the word 779°2X is not mentioned; their prohibition
extends even if it is 1IR3 7770 X9W. Therefore by 77°vn where the prohibition does not mention 772°9% (the 105 [in
10,7 RIP7] merely states "7 °wTpn A Hyn 21wnn 23 wol), it should be Mo (and be 2n1) even JNRIT T KW, [MOOIN
presumes that X237 (even though he disagrees with »ax regarding 119mP1 WwoR X2, nevertheless) agrees with »ax
concerning this ruling of 7173 X>w (see X"w1rn). See ‘Thinking it over’ # 2]
7 See X3 1pY. Regarding 72°wn it states (10,7 X1p") that 7awa axvm and by 79190 (in 0,20 [MMK] XIP) it states X
X7 1OV IR,
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a mw 77°1 of Xwvn Xvn, and by 72N it states® ;T9°oR regarding the prohibition of a 7 to
eat 777N, Therefore just as by 7m0 a 97 is 21 only JNXIT 7772 (since it states 177°OX), the same
applies to 79°v1 that one is 21 only X7 7772.

Mmoo anticipates a difficulty:
- TNPPUNR NNN 2YSY (3,0 At nmasy D3N Y 7992 9ONT XM

And that which the 71w in 299257 92 P25 prohibits to sit under the shade of an

SRS when we just concluded here that sitting in the shade is considered 1nX37 7775 Row and is
permitted —

mooIn responds that we cannot compare the shade of the 9271 to the shade of an 7WwK; firstly -

$NDIN 29N XY N9 NAY 22)T NP ANIN 797 NI NNVY YYD NYPYUNRT DIVN
Because that 729w tree is made for shade (as opposed to 93°771 °2m2), so it is 777
7817, and additionally by the prohibition of serving 1"y there is no mention of
99N, therefore it would be oK even if it is 7NXIT 777 XoW.

SUMMARY

n9°vn is only 1NRIT 777D TOK, since we derive it through a mmnn Ron Ko W',
77°wR is made for a ¥ and 79°OX is not mentioned by 1"y, therefore it is MOK to sit
under an 7WR.

THINKING IT OVER
1. What is a practical difference between the last two answers of N1501n?

2. MooIn assumes ' that (even) according to X211 there is a 172 R2W 211 whenever
722X is not mentioned, except for (2"1°31) 77°vn where X271 maintains there is no
211 since we derive 79°vn from 71N where 77°0K is written. Previously (X,712) the
X7m3 challenged that we cannot derive 18377 M0°R by 11""22 from 07277 °X?D since X922
07577 is MOXR even 7172 XYW, »ax answered that 122 is also 7172 X7w 10X, However
since 72°OK Mo°K by 1"13 is derived'' from 79 where 799X is mentioned, so
according to &2, there should be no 2vn by n"22 if it is 7770 X%w (like 7570); how
will X211 derive 122 from 07977 *x93?!"2

¥ See 2,2 (MMKR) XpM where it states WP 2K XY 71 referring to 7m1n.
? 77wX is a tree that was planted in order to worship it as an 1"ay.
10 See footnote # 6 [in the bracketed area].
' See 2,70.
12 See (TR X",
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